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M.A. (PI’CViOllS) Examination 1. Give answer of the following questions :

frafafea aw= & SW ST
(1) Define Vector Matrix.

ECONOMICS
(Quantitative Methods)

qfecyr Afera =1 aRwfom wifsw)
Paper : MAEC-04 3 - : :
(i) Main ingredients of a linear programme.
Time : 2 Hours | [ Maximum Marks : 80 e dum % qeT q |
Note :— The question paper is divided into two Sections (iii) Define a;;.
A and B. Write answers as per the given a; =1 gt S

instructions. Use of non-programmable simple (iv)
calculator is allowed in this paper.
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Games of chance.
TR ©A |

(v) Sources of secondary data.

T ST WHRO Seieiel H AN fRA ST Hehd fodiors oo & & |
7 (vi) What are partition values ?
Section-A 8x2=16 favrsm g = g2

(vil) What is meant by Dispersion ?

: . ,
Note .— Examinees have to attempt all questions. STAfERTOT BT o o1
Maximum word limit may be 30 words. Each (viii) Utility of Consumer Price Index Numbers.

question carries 2 marks. YR od FEhIhi i ST |
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(Very Short Answer Type Questions)



Section-B 4%x16=64

(Short Answer Type Questions)
Note :(— Section ‘B’ contains eight short answer type
questions. Examinees will have to answer any four
questions. Each question is of 16 marks.

Examinees have to delimit each answer in

maximum 200 words.
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2. Find d_y, if -
dx
: Jx
(1) Y=711

(i) y=+/xlogx?
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(1) y=%

(i) y=+/xlogx?

. Find inverse if :

A=

1 2 3
1 3 4
Tl F it =i

1 2 3
1 3 4
1 4 3

A=

. Explain exclusive and inclusive class intervals with

suitable examples.
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5. The mean of the following data is 50. Find the

missing frequencies :

Class F
0-20 17
20-40 A
40-60 32
60— 80 5
80-100 19
Total 120

71 weenl @1 Wem 50 T, ST gl R TSIt

ER g
0-20 17

20-40 £

40-60 32

60 — 80 £

80-100 19
Fa 120
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6. From the following data calculate the standard

deviation and its coefficient :

15, 18, 13, 20, 17, 10, 16, 19, 22, 20

o oo

frafafea a9t 9 gam fogem qon S o
ferTferT ¢
15, 18, 13, 20, 17, 10, 16, 19, 22, 20

. The following table gives the price relatives and

weights of a set of four commodities, if the index
for the set is 122 and the sum of the weights is 40,

find the value of W and W,y

Commodity A B C D
Price Relatives 120 127 125 119
Weight 2wy wy,  ow; o wy, + 3

=1 oroht § =R a%gel & Jeaud iR WR few T
g1 Ak T wHT gEew 122 ¥ IR AR & A 40
@T‘ﬁwlﬁ'{wzaﬂﬂﬁﬁﬁaﬁﬁ'q:

ag A B C D
R (IR 120 127 125 119
R 2wl W, Wy Wy + 3
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8. What is the probability that a leap year selected at

random will contain 53 Mondays ?

TR N FEEA © foR Q9 wfeeem g/ g e feedt
o e § 53 9FeR B ?

9. Explain the functions of NSSO.
NSSO & @Ml =l qHET |

MAEC-04 / 670 / 7 (7)



